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All the guestions are compulsory.
(2) TS W T G R Iw-Iiae | € fag
Write the answerto each question in the given answer book only.
(3) T G&AT 26 Sl @GS T YR TS |
Draw the graph of question No. 26 on graph paper.
(3) IH- =<1 & S SR § fd yehR 1 gfe / st/ fatramimr
M W &= & 9 Rl gE uH |

Ifthereis any error/ difference/contradiction in Hindi & English
version of the question paper the question of Hindi version
should be treated valid.
GUg—3 (Part—A)
1. . ¥ e fafa @ 12 % =i @ FN

Usmg Ishta Sankhya method find the square of 12. - 1
'2 48 3R 105 1 FewH THTAF A F | .
. Fi the HCF of 48 and 105. i
a 49 tan 49
3/271 FIHAA FEFUI  Find the value of cot a1 : 1

/éso + sin® 40 H1 A F@ HU |

he value of sin2 50 + sin? 40, - 1

5. ¥ DE||BCEAD=4 ¥, BD=699 Td AE=59H I dTEC
A A F 1 In the Figure DE || BC AD=4cm.,BD=6cm., and AE=5
cm., then measure of EC will be. | I
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6. afe a1 fwan 13 A, SR TTH T S F A 10 TH R D o,
A FE A IE R

If the radius of circle is 13 cm. and length of its one chord is 10 cm ther

find out the distance of this chord from the cepter of circle, l
7. S x%y? Q1 x’y?z 1 AH. 6

Find the least common multiple of the x2y? and x3yZ2z. I
8. /T U Fil e H AR | 991 3iF A 1 Wigehat F1d Hifad |

In throwing a dice, find the probability of getting a number mor

than 4, 1
9. PR IWH &AB Fa H Formem =g 14 I, ¥

, Find the area of a cricle whose diameter is 14 cm. ]
10, 3 fifgem g/ 15 1 vwa 39 =
Find the cubes of 15 by the Sutra Nikhilam. I
| Qs—d (Part—B) |

11._fg =g 7[5 T snfia den
Prove that 7./5 is irrational number. ’ 2
12. sin 60 cos 30 + sin 30 cos 60 F1 T J1d H |
FFipd_ the value of sin 60 cos 30 + sin 30 cos 60. 2
1%@3%%&:“4225@%%‘?& I Using Dwandiwa yog method find
the square root of perfect square number 4225, 2

14. ¥ Ter = 8 WX 39 UIe W Imem Breaw & fag coTv Smam 1
Uit % W A 17 WX R e 79 W 2E Wahdl & Ot ¥ =9 s de
TR drrore aTara 3Q T ¥
For traffic control a CCTV camera is fixed on a 8m straight pole. The
cemera can see 17m distance sight line from the top. Find the area visible

_ by the camera around the pole. ' | ' 2

15, AF FTA WM/ B T W 150 fref T 60 kvh T fe @ |t 10F
AR Tt hl IR HTelt & | ARt e 3 e a8 v fare w1
TR ferrrer e 2 firfe it et W 3 fire v wdt e 103 fard W0
T Tt & B ¥ A vg ¥ fora T @iy
Acartravels 1 S0km distance from aplaceto Atoplace B at auniform speed
69 km/hour passes throgh all ten green trafic signals, 1 minutes at first
signal, 2 minutes at second signal, 3 mintures at third si gnal and soon stop

for 10 minutes at tenth s; gnal. How much total time it take to reach at 1h°
place B, 2
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16,/ 2 oA F PR (x = 7) (x + 8x + 12) ¥ 32 $7 o] 1 W
AR (x + 6) & A TG THIYS T H4 |

The product of two expressions is (x — 7) (x2 + 8x + 12). If their highes

common factor is (x + 6) then find their least common multiple.

3
P . l+cos®
17,7 fag B : (Prove that): 4o . CorecY+cotd 3
18, A= I 1, 4, 7, 10 e 88 § A9 1291 v I F=A |
* Find thé 12" term from the last of the AP 3

1, 4,7, 10, e 28
1&”%%@&@@@%%%@@'@30%#@?%I.Iﬁ‘mﬁ?fﬂm
1 TE FW 30° | HAR B FE T Al |

The angle of elevation of the top of a tower from a point on the

ground, which is 30m away from the foot of tower, is 30°. Find the height
of tower. 3

20/5Ascﬁmfmamm BEaﬂtCFﬁﬁGwmm%!aﬁAﬁn
6 AT, BE = 9 ¥, 3K GF = 4.5 37t €1 & GD %1 9F 71 & |

In the A ABC medians AD, BE and CF intersed each other at G If
AG=6cm,BE=9cmand GFl= 4.5 cm. Find the length of GD. 3
21. T3 73 o W w19 994 % =l i 9| wA -

“In ﬁgure/ find the all four angles of a cyclic quadnla tural. 3

_o;/ mw@ﬁéﬁwfﬂ%ﬁ@wmm 3 wrrr el ¥

The tangent lines drawn from an exterior point to a circle are equal. 3
23+ AABCH THIFiferd Rrrd o BC = 3.8 30 £B = 60° 7 £C=55° @
T g8 S & oo o1 w R

ConstructatnangchBthlchBC 38cm£B 60°and £LC= 55°draw
‘a circumcircle of this triangle.” 3

WU F R 6waﬁ%|gomﬁm§§mm@ﬁww
mﬂﬁmmﬁl
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The’)e'nglh of an hour hand of a clock is 6 cm. Find the area of the
secfor swept by this hour hand with in 90 minutes. 3
25, T 401 H 5 o o 3 v e F 15 6 A T AR AN PR e
% |\ TuR T v & i el TE i (31) IR (F) TERORR
A bag contains 5 red and 3 white ball. Out of this bag one balias I':-':meml-y. .
drawn. What is the probability that ball..
@og—H (Part—D) _
26. 5 Ufqel a7 el 9 gl g 50 ¥ 1wt 7 e aa 5 e B Fo
T 46 + v e ) SR w9 § o T fafe @ g il

. The cost of 5 pencil and 7 pens is Q)0 and the cost of 7 pencil and 5 pens
is ®.46 formulate this problem algebrically and solve it graphically. 4 —

2L TR A T T+ y = 4T 1) 3R (5, 7) 1 e et Y v

3 H faanfsra et €
Find in which ratio line x + y = 4 divides the line joining the points
(-1, 1) and (5, 7). o _ 4
argar (OR) |
34 IS T Aifeaemsl St e W Fie fawes 9 (1, 1) (0, 4) 3
(-5,3) %1 ' -
Find the length of median of a triangle whose vertices are (1,—1) (0,4) and
- (=5,3).
\1}/% 1130, % 3.5 . x 25 TR AR F T 2.8 Yt = ) O A
" o IR ¥ | HE! @ e g | 4

A candle of diameter 2.8 cm. is formed from a cuboid of diméensions 1 1 cm-
% 3.5 cm x 2.5 cm. Find the length of candle. :
29, /wfead 7t 25 AFEHT THE FI0ERGl S 1 TR 957 319 4 | )

Assumed mean as 25. Find mean of the following distribution. 4
r L S

Class ] 0-10 | 10-20 | 20—30 | 30~40 | 40—50
Frequency | 6 - | 10 13 7 4 |

30. fagHifem frgs T oo & TarR Sl T8 U 1@ B &t Qe a) syaneii
) yfg=e FL a8 A1 enstl 1 T9H AW § fawf st j)
If a line is drawn parallel to one side of a triangle intersecting the other two
sides then it divides the two sides in the same ratio. ’ 4
- 3T (OR) '
fiyg A oo faet o R w A ) sl | &l &
F TERLEA T _

In a right triangle the square of hypotenuse is equal to the sum of the
squares of remaining to sides. ' _ 1






